Ivze: R B RSB L Sk 7] | Do e

157 B 3 A $H#EREIR AL -
L04 LOo4 L04 LO5 Lo6 Lo6 LO6 Lo6 LO6 LOo6 Lo7
- #
SBLET] HBET] SRaLeET) SBLET] BRI BRI A ERTA BRI BRI A E&RTIA BRI A BRI
EXE 158 3FE B A0 TP AR AL ST™M ™ ™ ™ ™ ™ ™ SR
SRLLEEHI T 42 450 45 ) o0 T SR YK T AR L4 HI AT 4 450 45 ) o0 T SRALYEHI N T AR 4L 45 HI 0 T SR 40 4 ) 0 T SRLLEEHI T 42 450 45 ) o0 T SR 4K T ARLLEEEI T

- BT BQURTIF RERBEL
Lo8 I L09 L09 L09 L09 L10 L10
ERIA BUHTIA BT BT BEHETIH BT LEC YL
N RALMT RALMT RALMT RILMI HER BEAR i T BEARGUIN T

SR 55 ) 0 T SR ALY HI N T AR 4 HI 0T S 457 4 Wl 70 T

A Y
E EH l 45 5% 2 - 4E 5k
I\ — £ , L11 L11 L12 L12 L13 L13 L14 L14 .

) ) / v
I h re a d I I I I I I I n to O I HELE HELE Finet st it it FRLE w"F
Tk R TikR R FEkE K FiA R EZ ]

24 “i s 24 “i 24 24 £33

SPLLYEEIM T SR AT SRALYEEI T

L33
BEH|

7I8 5,

42 &y
BEH|

7I8 2

241
R ZF

219
R ZF

B2k Bk
24 L34
%7 7]
24 L34
7] 7]
JI#F TI+F
TR Tk
214 %1
R R ZF




® o EH RS £ Ly Integral Tungsten Steel
Inze® SR BN IMIB A SR T] | s

ISO A #l-& F &
ISO Metric - FT Type

SNRG/ IR T)

External / Internal thread milling cutter

UNC/UNF/UNEF -4 7 &
UNC/UNF/UNEF American Standard - FT Type

ISO AHl-35 &
ISO Metric - 3T Type
SMZ L/ AR HET)

External / Internal thread milling cutter

ISO Afl-17F 58
ISO Metric- 1T Type
SMB /PR S T) SMB BT/ IR B T

External/Internal thread milling cutter External / Internal thread milling cutter

R

D2 Le D2

—
f k

L

=g I @

373 T

mm tpi D D2 F .
123456 |FT-M3.0x 0.5 o 5 = ‘ 40 (23|50 6 3 50 (mm)__(tp) | D - (tpi) e .
T FT-M4-Ox0l7 ok olEER R G A =5 601500 D04~ 32UNC 32 40 (39|45 (87| 3 123456| 1T-M1.0 0.2-0.3 | 80-64 | 4.0 |0.65| 50 | 3 3 40 123456 |3T-M1.0x 0.25 | 0.25 4.0 |0.65| 50 | 3.0 | 3 44
1 FT_M5'0x0'5 Y 60la90l50 10! 3 83 601502 |[D04- 28UNC 28 4.0 (39| 45 |11.8 3 1 17-M1.2 0.2-0.35| 80-64 | 4.0 [0.85| 50 | 3.6 | 3 36 11 |3T-M1.2x0.25 | 0.25 4.0 |0.85| 50 | 3.6 | 3 40
1 ’ o8 o Gl EC T R e 601504 D04~ 24UNC 24 4.0 (39|45 |11.6]| 3 1 17-M1.4 0.2-0.4 | 80-56 | 4.0 | 1.0 | 50 |42 | 3 36 11 |3T-M1.4x0.3 0.3 40(1.0]50 |42 3 40
1 |FT-Ms 0x0'75 075 solaslsol 2] 3 a3 601506 [D04- 20UNC 20 4.0 3.9 45 [12.7| 3 11 17-M1.6 0.3-0.45| 72-56 | 4.0 [1.15| 50 | 4.8 | 3 36 11 |3T-M1.6x0.35 | 0.35 4.0 |1.15| 50 | 4.8 | 3 40
T T 40 0 Gl e 601508 |[D06- 18UNC 18 6.0 |59 57 |16.9| 3 1 1T-M2.0 0.3-05 | 72-56 | 4.0 [1.45| 50 | 6.0 | 3 36 11 |3T-M2.0x 0.4 0.4 4.0 |1.45| 50 | 6.0 | 3 40
1 |FT-Ms Ox‘l‘O 1o solesleol 16l 3 |20 601510 [DO8- 16UNC 16 8.0 7963 [19.1| 3 1 1T-M2.5 0.35-0.6| 72-40 | 4.0 [1.9 | 50 | 7.5| 3 36 11 |3T-M2.5x0.45 | 0.45 40(19|50 |75 3 40
eE | i G TR T N T 601512 |D12- 12UNC 12 [12.0]11.9] 83 |29.6] 3 1 17-M3.0 0.5-0.8 | 48-32 | 4.0 |2.35| 50 [ 9.0 | 3 36 11 |3T-M3.0x 0.5 0.5 4.0 |2.35) 50 | 9.0 | 3 40
FT-M10x 1j0 1'.0 10'.0 8:7 75 | 20 3 170 601600 |D04- 36UNF 36 40130/ 45 | 85 3 1T-M4.0 0.5-0.8 | 48-32 | 4.0 |3.15| 50 [12.0| 3 36 3T-M4.0x 0.7 0.7 4.0 [3.15| 50 [12.0| 3 40
125 1.25 100l 82 75 | 20 3 170 601602 |D04- 32UNF 32 40 (33| 45 [111] 3 1T-M5.0 0.5-1.0 | 48-24 | 6.0 | 4.0 | 50 |15.0] 3 56 3T-M5.0x 0.5 0.5 6.0 |4.0| 50 |15.0| 3 70
15 15 100|821 75 | 20 3 163 601604 |D04- 28UNF 28 40 (3.8 45 [11.8] 3 1T-M6.0 0.5-1.25| 48-20 | 6.0 [ 4.8 | 50 |18.0| 3 56 0.8 0.8 6.0 | 4.0 | 50 |15.0 3 65
FT-M12x 1.0 10 10.0| 10 | 75 | 24 3 170 601606 |D06- 28UNF 28 6.0 46| 57 |12.7| 3 1T-M8.0 0.5-1.25| 48-20 | 8.0 | 6.5 | 60 |24.0| 3 85 3T-M6.0x0.75 | 0.75 6.0 | 5.0 | 50 |18.0| 3 70
1.25| 1.25 100l 10175 | 24| 3 | 170 601608 |[D10- 28UNEF 28 [10.0]9.2 | 73 |22.7| 3 1T-M10 0.75-1.5| 32-16 |[10.0( 8.2 | 75 [30.0| 3 | 126 1.0 1.0 6.0 [4.8 | 50 |[18.0| 3 65
1'5 1' 5 10'0 10 | 75 | 24 3 170 601610 |D04- 24UNC 24 40 (29| 45 [106] 3 1T-M12 1.0-25 | 24-10 (10.0| 9.9 | 75 |36.0| 3 126 3T-M8.0x 1.0 1.0 8.0 | 6.5 | 60 |24.0| 3 100
1'75 1 '75 10'0 10 | 75 | 24 3 163 601612 |D04- 24UNC 24 401351 45 [11.6] 3 1T-M14 1.0-2.5 | 24-10 |12.0(11.6| 75 |36.0 3 146 1.25 | 1.25 8.0 |6.5| 60 [24.0| 3 95
P 1| 5 e ol 2l s el o o 601614 |D06- 24UNF 24 6.0 (57|57 |[159| 3 1T-M16 15-30 | 16-8 |14.0(13.6| 80 {40.0| 3 | 172 3T-M10x 1.0 1.0 10.0| 8.5 | 75 {30.0| 3 | 148
2'0 2'0 12'0 16| 75 | 28 3 190 601616 |D08- 24UNF 24 80|74 63 [19.1 3 1T-M18 1.5-3.0 16-8 |16.0|14.8| 100 [54.0| 3 320 1.25| 1.25 10.0| 8.2 | 75 |30.0|] 3 148
FT-M16x 15 15 14.0l14.0| 80 | 32 3 240 601618 |D12- 24UNEF 24 12.0/11.9| 83 [286| 3 1T-M20 1.5-30 | 16-8 [16.0|16.0| 100 |60.0| 3 320 1.5 1.5 10.0( 8.2 | 75 (30.0| 3 138
) ) ) ' 601620 |D04- 20UNC 20 4.0 |39 45 [12.7| 3 3T-M12x 1.0 1.0 10.0|10.0| 75 |36.0( 3 | 148
2.0 2.0 14.0(13.6| 80 | 32 | 3 | 230 : : :
R 1.25| 1.25 10.0[10.0| 75 |36.0| 3 | 148
ET-M18x 2.5 25 16.0/14.8/ 100 36 | 3 | 420 601622 |[D10- 20UNF 20 [10.0|8.5 | 73 |22.9| 3
’ ) ) ' 601624 |D10- 20UNF1 20 [10.0{9.9| 73 |25.4| 3 1.5 1.5 10.0(10.0| 75 (36.0| 3 | 148
FT-M20x 2.0 2.0 16.0(16.0( 100 | 40 | 3 | 500 : : :
601626 |[D16- 20UNEF 20 [16.0|15.9| 92 [38.1| 3 1751 1.75 10.0/9.9 | 75 |36.0| 3 | 138
2.5 2.5 16.0(16.0( 100 | 40 | 3 | 420 : : :
601628 |D06- 18UNC 18 6.0 |52 57 |[16.9| 3 3T-M14x 1.5 1.5 12.0| 12 | 75 |36.0| 3 | 170
FT-M24x 3.0 3.0 16.0(16.0( 100 | 40 | 3 | 500 : : :
601630 [D10- 18UNF 18 |10.0(11.3| 83 |29.6| 3 2.0 2.0 12.0(11.6| 75 |36.0| 3 | 160
FT-M27x 3.0 3.0 20.0[20.0{100| 43 | 3 | 700 : : :
601632 |[D12- 18UNF 18 |12.0]15.9] 83 |32.5| 3 3T-M16x 1.5 1.5 14.0(14.0( 80 |40.0| 3 | 200
| s 5 601634 |[DO8- 16UNC 16 8.0 (6.7 | 63 [19.1| 3 2.0 2.0 14.0(13.6| 80 |40.0| 3 | 190
‘ BSP(BSW/BSF/G) ZHHIERL 01695 |D16. 16UNF 16 lieolinol 9o l2s1] = 3T-M18x 25 | 25 16.0(14.8| 100 |54.0| 3 | 350
#R4r  BSP(BSW/BSF/G) Pipe Thread Type 601636 |DO8- 14UNGC 14 | 80|76 63 |236] 3 55°/60° B M- FF 48 4 5 7] 3T-M20x 2.5 | 2.5 16.0[16.0] 100 |60.0| 3 | 350 2 47
e % Z I
5l SHE 457/ P 0B T 5 T) m 601640 |D20- 14UNF 14 |20.0|18.7| 104 |44.4| 3 e _ . EE
Exte;'nal / Inte‘rnalthread e eutter ROASTP i 601642 |D10- 13UNC 13 100|809 | 73 |254| 3 55°/60° Straight groove-taper thread milling cutter g%
s 9 601644 |D12- 12UNC 12 [12.0|10.3| 83 |29.6| 3 UNC/UNF/UNEF Z£#I-37 8! e
o2 eve] D20 g2 Uik 22 070] 190 oy |06 g UNC/UNF/UNEF American Standard - 3T Type
601648 [D12- 11UNC 1 12.0(11.0| 83 |32.3| 3 .
601650 |D16- 10UNC 10 |16.0|13.5| 92 |38.1| 3 SNBE S/ AR SR T]
601652 |D16- QUNC 9 16.0(15.2] 92 452 3 . External / Internal thread milling cutter
601654 |D20- 8UNC 8 20.0/17.0| 104 [50.8| 3 02

,‘, ‘* @ L D2
=l D ° Le | ‘7 @
BRI A EEIZELET] Qﬂ D i 737]3T7

Straight groove thread milling cutter for bone plate processing

UNC/UNF/UNEF =#|-& 78 e

601300 \DO6- 28BSP UNC/UNF/UNEF American Standard - FT Type
7] 601302 |D08- 28BSP 7]
TI¥F 601304 |D10- 19BSP ) . 5 - D E TIHE
T 601306 |D16- 19BSP MR/ AR BB T) - 502500 | S06059L080-0.4TAPEO® 5 3 602300 [3T-D06014L039-72UN 72 6 [1.45| 57 |3.9]| 3 B
601308 |D16- 14BSP External / Internal thread milling cutter . 602302 |3T-D06014L042-64UN 64 6 |1.40| 57 [4.2| 3
— 601310 |D20- 14BSP : : 602502 | S06059L090-0.5TAPEO ° : 602304 |3T-D06016L050-56UN 56 | 6 [1.65|57 |50 3 a1
%I 602504 | 503028L039-0.3TAPSS" : : 602306 |3T-D06019L060-48UN 48 | 6 |190] 57 |60 3 “3
602506 |S04039L063-0.35TAP55° 4 3 c :

—_— 2 602505 | S06059L100-0 4TAP55° N 5 602308 |3T-D06021L060-40UN 40 | 6 |2.10| 57 |6.0| 3 —
T BSPT 4 &84 502510 | S06059L090-0.5TAP55® 6 3 602310 |3T-D06024L072-40UN 40 6 (24557 |72 3 W
= BRE . 602312 |3T-D06033L087-36UN 36 | 6 [3.30]57 [87]| 3

] b 602512 | S06059L066-0.6TAP55 6 3

BSPT Taper Pipe Thread Type 602314 |3T-D06025L074-32UN 32 6 |3.55| 57 |74 | 3

, L 602316 |3T-D06032L100-32UN 32 | 6 [3.20] 57 [10.0] 3

SNIESL/ AR BET] 602318 |3T-D06052L132-28UN 28 | 6 |5.25| 57 [132] 3

External / Internal thread milling cutter 602320 |3T-D06035L102-24UN 24 6 |3.58| 57 [10.2| 3

602322 |3T-D08066L165-24UN 24 | 8 |6.68| 63 [16.5| 3

602324 |3T-D06048L134-120UN | 20 | 6 |4.88| 57 [13.4] 3

: 602326 |3T-D10095L230-120UN | 20 | 10 |9.55| 73 [23.0| 3

(t) D D2 P 602328 |3T-D08067L191-16UN 16 | 8 |6.70] 63 [19.1] 3

601800 |D06-27NPT 27 16015357 |94 3 602330 |3T-D10090L233-14UN 14 | 10 |9.00| 73 |23.3| 3

601802 |D08-27NPT 27 180756394/ 3 502400 |3T-D03014L057-72UN 72 3 |1.45| 30 |5.75| 3

601804 |D10-18NPT 18 110.01 9.4 1 73 |14.1) 3 602402 |3T-D06014L057-72UN 72 6 |1.45| 57 |5.75| 3

601806 |D12-18NPT 18 |12.0111.9] 83 |14.1) 3 602404 |3T-D03016L070-56UN 56 3 |1.65| 30 |70 3

601808 |D16-14NPT 14 116.0115.5| 92 1254| 3 602406 |3T-D03021L090-40UN 40 | 3 |2.10] 30 |9.0]| 3

601810 |D20-11.5NPT 1.5 (20.0/19.9) 104 33.1) 3 502408 |3T-D06021L100-40UN 40 6 [2.10| 57 [9.0| 3

= 601812 |D20-8NPT 8 1200/19.9]104 (38.1] 3 602410 |3T-D06024L 110-40UN 32 | 6 |245| 57 [10.0| 3

601900 |DO6-27NPTF 27 |16.00/5.3 1157 9.4 |3 602412 |3T-D03025L110-32UN 32 | 3 |255| 30 [11.0] 3

601400 |D06- 28BSPT 28 |6.0]58] 57 |16.3] 3 601902 |D08-27NPTF 27 |80|75|63 |94 3 S [T IDEBIN o 6 Basl e Tl 5

601402 |D08- 28BSPT 28 |8.0|7.7]| 63 |200 3 601904 |D10-18NPTF 18 [10.0|9.4 | 73 |14.1| 3 602416 |3T-D0G032L 130-32UN 2 |6 |320] 57 l130] 3

601404 1D10- 19BSPT 19 |10.049.9 1 78 126.7) 3 601906 |D12-18NPTF 18 |12.0/11.9) 83 |14.1) 3 602418 |3T-D06052L196-28UN 28 | & |5.25| 57 [19.6] 3

GG DIG= AIEEIPT 19 1G.0] (IS 2]] B2 548 601908 |D16-14NPTF 14 |16.0(15.5) 92 125.4| 3 602420 |3T-D08066L245-24UN 24 | 8 |6.68| 63 [24.5| 3

601408 |D16- 14BSPT 14 [16.0|15.7| 92 |43.5]| 3 601910 |D20-11.5NPTF 11.5 |20.0(19.9|104 [33.1] 3 B e TR R e R N e
501410 |D20- 11BSPT 11 [20.0]19.9| 104 |41.6] 3 601912 |D20-8NPTF 8 [20.0[19.9]104 |38.1] 3




Ivze: R B RSB L Sk 7] | Do e

ISOfRERMR L #E 7] H UN-60° E#IG—+REIRarst 7] K UNJ E#IfEMRMMRS ST A ? ing Mil
ISO Metric Full Profile 7 &#m®: 6031.. UN-60°American UN Full Profile  /&%#: 6035 UNJ Aviation Thread  =omm. soer BRELEETIAT Thread g Milling Tool Holders

R

PIEREL

— EfEA TMAR B
Bt TR e " TBER | fi
WE &R TMiRfE R
Order Price
TPI L=104mmD=60mm | L=11mm D=1/4" | L=16mm D=3/8" | L=22mm D=3/8"B | L=27mm D=5/8" |L=38.5mm D=3/4'B TPI L=10.4mm D=6.0mm| L=11mm D=1/4" L=16mm D=3/8" L=27mm D=5/8" Number RMB
mm  [L=104mmD=60mm | L=11mm D=1/4" |L=16mm D=3/8" | L=22mmD=3/8"B| L=27mmD=5/8" |L=38.5mm D=3/4"B SRExt STM6 0-C12 69 | 12 | 12| 68| 9 M2.2X5 T7 605300
ShEXt 48 it TM2N48 UN 24 SPExt TM2E24 UNJ TM3E24 UNJ STM6.0-C20 84 | 17 | 20| 68 | © M2.2X5 T7 605302
05 Aint |TM6.0N0.51SO | TM2N0.51SO | TM3N0.51SO SNExt Alnt TM6.0N24 UNJ TM2N24 UNJ TM3N24 UhU STM2-C12 70 12 12| 8.9 | 115 M3X7 T9 605304
. SMExt TM2E0.751SO | TM3E0.751SO 40 Aint TM2N40 UN TM3N40 UN SNExt TM2E20 UNJ TM3E20 UNJ STM2-C20 85 20 20| 89 | 115 M3X7 T8 605306
"> | Pint_|TM6.0N0.751SO| TM2N0.751SO | TM3N0.75 ISO pre=y 20 STM3-C16 90 | 22 | 16 [136] 17 M3.5X8 T15 605308
X
P ECT TM2E1.01SO_| TM3E1.01SO | TM3BE1.01SO | TM5E1.01SO 32 Ve oN3ZON T Tv2N3Z ON At TME.ONZ0 UNJ TMZNZ0 UNJ R13N20 UNJ STM3-C20 95 | 43 | 20 [ 1656 ] 20 M3.5X8 T15 605310
" | MInt_|TM6.0N1.01SO | TM2N1.01SO | TM3N1.01SO | TM3BN1.01SO | TM5N1.0 ISO Pint FPES N TMSNS2 UN 18 IMExt TM3E18 UNJ SBTM3B-C16 795 29 | 16 [135] 17 M3.5X8 T15 605312
P = TM2E1.251S0 | TM3E1.251SO | TM3BE1.25 ISO| TMSE1.25 1SO 2g [ FMEX TM3E28 UN Aint TM6.0N18 UNJ TM2N18 UNJ TM3N18 UhU SBTM3B-C20 | 615 | 29 | 20 | 1565 19 | 38~ | M3.5x8 T15 605314
Pilnt_[TM6.0N1.251SO| TM2N1.251SO | TM3N1.251S0 | TM3BN1.25 1SO| TM5N1.251S0 Pint | TM6.ON28 UN | TM2N28UN | TM3N28 UN SBTM3B-C25_ | 923 | 30 | 25 | 155] 19 | 3B~ | M3sxe T15 605316
s SMExt TM2E1.51SO | TM3E1.51SO |TM3BE1.51SO | TM5E1.51SO | TM6BE1.51SO 27 SNExt TM2E27 UN TM3E27 UN 16 ShExt TM2E16 UNJ TM3E16 UNJ TMSE16 UNJ SBTMW3B-C25 | 90.8 | 30 25 | 185 | 22 3B M3.5X8 T15 605318
" | PaInt_|TM6.0N1.51SO | TM2N1.51SO | TM3N1.51SO |TM3BN1.51SO | TM5N1.51SO | TM6BN1.51SO Aint TM2N27 UN TM3N27 UN Aint TM6.0N18 UNJ TM2N16 UNJ TM3N16 UNJ TM5N16 UNJ STM5-C25 110 | 52 25 | 24 30 | 5 MEX14 T20 605320
175 ;2::):‘ mzil ;Z Eg mz:ili:zz m:ﬁ: ::zg 26 | PEXt TM3E26 UN 14 SMExt TM2E14 UNJ TM3E14 UNJ STM5-C25LH 110 [ 52 [ 25 [ 24 | 30 M5X14 T20 605322
n .
ShExt TM3E2.01SO_|TM3BE2.01SO | TM5E2.01SO | TM6BE2.0 ISO Hint TM3NZ6 UN Mint TM2N14 UNJ TM3N14 UNJ STMS-C32 M WL T S X 20 oo5s2e
20 it TM3N2.0150 |TM3BN2.01S0 | TMSN2.01S0 | TMBBN2.0 150 24 [HhEX TM2E24UN_| TM3E24 UN TW3BE24 N | TMSE24 UN HMExt TM3E13 UNJ STOB-032 e — — —
. . N
FEx TveE2 5150 TTmeses 5150 Mint | TM6.0N24 UN TM2N24 UN TM3N24 UN TM3BN24 UN | TM5N24 UN 13 X STM6B-C40 135 | 63 40 | 38 46 68" M7X15 T25 605328
. TM3N13 UNJ
25 o TMsNz 5150 | TVEENZ 5150 20 | 2Ext TM2E20UN_| TM3E20UN__| TM3BE20UN | TMSE20 UN Aint
30 [2EX TM5E3.01SO_| TMBBE3.01SO Mint_| TM6.ON20UN | TM2N20UN | TM3N20 UN TM3BN20 UN | TM5N20 UN 12 SMExt TM3E12 UNJ TM5E12 UNJ R?QX%EJ—JFF
~ [t TM5N3.01SO | TM6BN3.01SO SPEXt TM2E18UN | TM3E18 UN TM3BE18UN | TM5E18 UN TM3N12 UhU TM5N12 UNJ ~
18 Int
X TM2N18 UN
a5 iﬂst« mzﬁii\;g Mint | TM6.ON18 UN TMzngLLjN TM3N18 UN TM3BN18 UN | TM5N18 UN 1" SNExt TM3E11 UNJ TM5E11 UNJ
n ShExt TM3E16 UN TM3BE16 UN TM5E16 UN
16
40 [2EX TM5E4.01SO | TM6BE4.0 ISO Aint | TM6.ONT6UN | TM2N16UN | TM3N16 UN TM3BN16 UN | TM5N16 UN Mint TM3N11 UNJ TM5N11 UNJ
int TM5N4.01SO | TM6BN4.01SO TVZETAUN " TVABETA UN - — 2 pote .
SPEXt TM5E4.51SO | TM6BE4.51SO 14 [HEX TWSELL UN TMSET4 UN BSPT e *:T/Efﬁ"é‘ﬁﬂ@ﬁﬂ)"f
4.5 Mint TM2NT4UN | TM3N14UN | TM3BN14UN | TM5N14 UN
Aint TM5N4.51SO_| TM6BN4.5 ISO BSPT-55° FEEUEEL. 6043
hExt TM6BE5.0150 13 | ShExt TM3E13 UN TM3BE13UN | TM5E13UN 7 an S
0 [t TMBBN5.01SO Aint TM3N13 UN TM3BN13UN | TM5N13 UN L
55 [ X TM6BE5.5 ISO 12 [ ShEXt TM3E12 UN TM3BE12UN | TM5E12 UN m TREB | his
~ At TMEBNS.51SO int TM3N12UN | TM3BN12UN | TM5N12 UN YVVNVVVVYVN Bprical
6.0 |2EX TM6BES.01SO 15| SExt TM3E11.5 UN TM5E11.5 UN N?j::;r R':::
it TMBENG 0150 Pint TM3N11.5 UN TM5N11.5 UN - - - - -
ShExt TM5E11 UN STML2-C25 125 17 25 8.9 1.5 2 M3X7 T8 605400
1 STML3-C25 125 | 25 | 25 | 186 | 22 30 M3.5X8 T15 605402
Aint TM5N11 UN = B -
e ey SBTML3-C25 125 | 63.5 | 25 | 18.6 | 22 3 M3.5X8 T15 605404
10 1°47'24" e SBTML3B-C20 | 965 | 44 | 20 | 155 19 | 38" M3.5X8 T15 605406
. Aint TMS5N10 UN BEER TR R SBTML3B-C25 | 125 | 635 | 25 | 166 | 22 | 38 | Wasxis T15 605408
£§ él 9 ShExt TMSE9 UN STML5-C25 150 | 92 [ 25| 24 | 30 M5X14 T20 605410 E,g QI
%ﬂ?’, ﬁlj Aint TMS5N9 UN STML5-C32 160 | 98 [ 32 31 37 M5X14 T20 605412 s;é ﬁIJ
g 8 ;I*Exl TM5E8 UN TPI L=11mm D=1/4" L=16mm D=3/8" L=27mm D=5/8" STML6B-C40 165 | 93 | 40 | 38 | 46 o M7X15 T25 605414
& Int TMS5N8 UN
ARG .55 muz s Ry
W 55?vtjtgﬁff?§ﬁjp]ﬁ| . aex TMBE7 UN 19 TM2-19 BSPT
- Itwor u rotie PG . 6033 Int .
Pin TM5N7 UN 14 TM3-14 BSPT BR L BE T HF
6 SPExt TM5E6 UN TM6BE6 UN
Paint TM5N6 UN TM6BN6 UN " TM3-11 BSPT TM5-11 BSPT
L 5 [ SMEXt TM6BES5 UN
Tt TM6BNS UN WELTEE TIAF  Threading Milling Tool Holders
AAAAAAAN 45 | MEX TM6BE4.5 UN
| Pt TM6BN4.5 UN _
TM6BE4 UN
K 4 :ﬁ:t TM6BN4 UN /-)\ s
s p2 o
s NPT % Bt e 1R 57 A o
7] — PR R B AR S %71
— NPT-60°National Pipe Threads = RYRE: 6037. Ry
TMAR R Number RMB!
2STM2-C20 |85 20 | 20 [14.4| 17 | 6.0"** | M2.2X5 T7 605500
2sTM3-C25  [100 [ 43 |25 [225] 26 | 6.0 [ wm2.2x5 T7 605502
T 455 g 2SBTM3B-C25 |104.2| 46 | 25 | 22.5| 26 | 277" M3X7 T8 605504
mm | L=104mmD=60mm | L=11mm D=1/4" | L=16mm D=3/8"| L=22mm D=3/8"B | L=27mm D=5/8" |L=38.5mm D=3/4'B Order Price 25TMS-C32 120 | 45 | 52 |36 |42 | 27 e e 605508
9y = T e Y Number | (RMB) 2STM6B-C40 [137.2| 65 [ 40 |44 [52 ] 3 M3.5X8 T15 605508
Pint | TMOONZEW || TNZNZEW STM6.0-C20124/003 | 85 | 15 | 20 |67 |9 |60 | M22x5 7 605100
#17 26 [REx] TVOORAOW | TWAEZOW | TWREZOW 77 (155 | 20 |74 |10 |60 BTk TIAF  Threading Milling Tool Holders “x
Aint | TM6.0N26W | TN2N26W TM3N26 W STM2-C20 124/005 o M2.2%5 i 605102 R = 9 9
SMExt | TM6.0E24 W TM2E24 W TM3E24 W TM3BE24 W STM2-C20 124/006 77 [ 155 | 20 | 9 12 27 M3X7 T8 605104 —_—
*)i E_F 24 it | TMB.ON24W | TM2N24W TM3N24 W TM3BN24 W STM2-C20124/009 | 77 [ 155 | 20 [ 7.4 [ 10 |27 M3X7 T8 605106 *)i 5}
ShExt | TME.0E20W | TM2E20 W TM3E20W | TM3BE20 W _ ajan _ —njan _ e n _ g STM3-C16124/001 | 91 | 205 | 16 | 12.2 [ 15.5] 37+~ M3.5X8 T15 605108
20 [pone | Tme.oNzoW | TMZNZOW 0w S TPI L=16mm D=3/8 L=22mmD=3/8"B | L=27mm D=5/ L=38.5mm D=3/4"B Stmacasiza00s Tor o0 T T s T YRR s R
yg [ONEXt] TMOOETOW | TM2EIOW TMSE19W | TM3BE19W 18 TM3E18 NPT STM4-C25124/007 | 98 | 40 | 25 | 16 | 20 | 3B | M3.5%8 T15 605112
Aint | TMB.ONTOW | TM2N19w TM3N19 W TM3BN19W — — Cufter: Drive
s |2Ex TM3ETBW | TM3BE18W 14 TM3-14 NPT TM3B-14 NPT STM5-C25124/004 [ 98 |40 |25 [19 [25 | 3B M3.5X8 T15 | 605114 150 240-1975 (mm)
: STM5-C25124/008 | 98 | 40 | 25 | 164 | 22 | 3B**** M3.5X8 T15 605116
Aint TMINTSW | TM3BN18W 11.5 TM3-11.5 NPT TM3B-11.5 NPT | TM5-11.5 NPTF| TM6B-11.5 NPT
16 [2ER TM3E16W | TM3BE16W | TMSE16W .
it TM3NT6W | TM3BN16W | TM5N16W 8 TM5-8 NPTF TM6B-8 NPT ﬂgﬂ%ﬁﬂ*? Threading Milling Tool Holders

TM2E14 W TM3E14 W TM3BE14 W TM5E14 W

" :E:t TMANTAW | TMINTAW | TMIBN14W | TMSN1AW NPTF Z#Il FEHIBZNsk NN R

ShExt TM3E12W TM3BE12 W TM5E12 W o
12 YRRD .
Aint TM3N12W | TM3BN12W | TM5N12W NPTF(Dry seal) FEEgRS 6039 o
SPExt TM3E11 W TM3BE11 W TM5E11 W 6BE11 W s
1 R )
Aint TM3NTI W TM3BN11 W TM5N11W | 6BN11W
10 [2Ext TMSE10W VVVYVVVVVVN Price
At TM5N10 W (- g | (RMB)
ShExt TM5EQ W | > SHTM2-D38-16 6 38 16 |40 M3X7 T8 605600
oot TM5NS W L SHTM2-D50-22 8 50 22 |40 M3X7 T8 605602
s |ShEXt TM5E8 W SHTM3-D50-22 6 50 22 40 M3.5X8 T15 605604
Aint TM5N8 W SHTM3B-D63-22 6 63 22 |40 M3.5X8 T15 605606
ShExt TM5E7 W 104724 | PIREL = TREE | 2 SHTM5-D63-22 4 63 22 |45 M5X14 T20 605608
;o BEIER MR B :
Aint TM5N7 W Order Price SHTM6B-D63-22 4 63 22 |50 M7X15 T25 605610
5 |2tExt TM5E6 W TM6BE6 W Number | (RMB) SHTM5-D80-27 6 80 27 |50 M5X14 T20 605612
Int TM5N6 W TMBBNG W STMN3-C16 STMN3-C16 LH 12517 |25 |89 [11.5] 20 | wmax7 T8 605200 SHTM6B-D80-27 5 80 27|50 M7X15 T25 605614
Aln = TPI L=16mm D=3/8" L=22mm D=3/8"B L=27mm D=5/8" L=38.5mm D=3/4'B = = =
ShExt TMBBES5 W STMN3-C20 STMN3-C20 LH 12525 | 25|186 |22 | 37~ | M35x8 | T15 605202 SHTM5-D100-32 7 100 | 32 [s5 M5X14 T20 605616
5 14 TM3-14 NPTF TM3B-14 NPTF
it TM6BN5 W SBTMN3N-C16 | SBTMN3N-C16LH | 125 | 635 | 25 | 186 |22 | 3 | M35x8 | 115 605204 SHTM6B-D100-32 6 100 | 32 [s5 M7X15 T25 605618
45 | SPEX TMGBE4.5 W 1.5 TM3-11.5 NPTF TM3B-11.5 NPTF TMS5-11.5 NPTF TM6B-11.5 NPTF SBTMN3B-C20 | SBTMN3B-C20LH [ 96.5[ 44 [ 20 [155]1e 38+ | m3sxe | T15 605206 SHTM5-D125-40 9 125 | 40 [63 M5X14 T20 605620
Mint TM6BN4.5 W 8 TM5-8 NPTF TM6B-8 NPTF SBTMNS5-C32 SBTMNS5-C32LH | 125 63.5 | 25 | 18.6 | 22 3B**** | M3.5X8 T15 605208 SHTM6B-D125-40 8 125 40 |63 M7X15 T25 605622




Ivze: R B RSB L Sk 7] | Do e

ISOARHE BB 4 T] 1+ UN-60°2 & Gi—k7 A MR 4 7] B NPT-60° % EiTfk BB QT BRI BETIAT (K ED
ISO 6061 UN,UNC,UNF,UNEF,UNS 6064 NPT 6068.. Single insert toolholders(long shank)
P
H
R4 O O J o
P " i rigg A : D1
2 A i 8 : P
'
A o2
tpi 12 14 21 30
12 14 21 30 40 i
mm tpi 12 14 21 30 40 18 | 12-18NPT | 14-18 NPT
0.5 | 4PExt 32 | ShExt 14 E 32 UN 14 14-14 NPT | 21-14 NPT
0.5 | Mint | *1210.5 1SO | 141 0.5 I1SO 32 |dnt | *121320N | 141 32UN 15 21-11.5NPT | 30-11.5NPT | 40-11.5NPT
0.75] sbExt | “1210.75150| 14E 0.75150 - .
28 | ShExt 14 E 28 UN 8 30-8 NPT 40-8 NPT ord
0.75| Aint [ *1211.0 150 | 141 0.75150 i
1.0 | 4hExt | *1211.25150 21E1.01S0 28 | Pint | 12128UN | 141 28 UN g
. xt| *1211.25 14E 1.0 1SO .
10 |AInt | 12115 1SO | 141 1.0 1SO | 211 1.01S0 27 | ShExt H 6.3 7.5 12 16 20 SR0025K21 | 21| 25 | 20 | 125 | 21*** | M3.5x8 | T15 | 607200
1.25| 4MExt : 14E1>25ISO 27 | Aint 141 27 UN T 2.9 3.1 4.7 5.5 6.3 SR0031M30 | 30 | 31 | 25 | 150 | 30°** | mM4x10 | T15 | 607202
1.25| Aint 141 1.25130 24 | SPExt 14E24UN | 21E24UN Order example: 30-11.5 NPT MT7 SR0038M30 | 30 | 38 | 32 | 150 | 30 | maxio | T15 | 607204
1.5 | ShExt 14E151S0 | 21E1.51SO | 30E1.51SO | 40E 1.51SO 24 | AInt | *12124UN | 14124 UN | 211 24 UN PG BETIR e —
20 | 4hExt 14E20UN | 21E20UN | 30E20UN - 6069..
1.5 | Mint 14115180 | 211 1.51S0 | 301 1.51SO | 401 1.51SO X PG-DIN 40430 Order example: SR0031M30
1

75| ShExt 14E1.751S0 20 | Aint | *12120UN| 141 20UN | 211 20UN | 301 20 UN For holders with long overhang reduce the cutting speed and feed rate

1.75| Mint 1411.751S0 | 211 1.75180 18 | SPExt 14E18UN | 21E18UN | 30E 18 UN between 20% t0 40% (depends on workpiece material. pitch and overhang)
2.0 | ShExt 14E2.0 1SO | 21E20 1SO | 30E201SO | 40E2.01SO 18 | MInt | *12118UN| 141 18UN | 211 18UN | 301 18 UN WAVAVAVAAVAYAAYAY

2.0 | Aint 141 2.0 1SO | 2112.01SO | 3012.01SO | 401 2.01SO 16 | SMExt 14E16UN | 21E16UN | 30E16UN | 40E 16 UN & H O

2.5 ;hExt 14E2.5 1SO | 21E2.51S0 16 | MInt | *12116UN| 141 16UN | 211 16UN | 301 16 UN | 401 16 UN - W TR LTI

2.5 | Mint 1412510 | 211 2.51S0

e frET T San B

X 1

3.0_| Pt 2113.01S0_| 301 3.0150 | 4013.0150 12 | MExt TAE12UN | 21E12UN | 30E12UN | 40E 12 UN
3.5 | SMExt 30E 3.51SO

12 | Mint 141 12UN | 211 12UN | 301 12UN | 401 12 UN
3.5 | Mint 2113.51SO | 30135ISO | 401 3.51S0 Ext tpi 14 21 30
4.0 | 4hExt 30E4.01SO | 40E4.01SO " X
4.0 | AInt 301 4.01SO | 401 4.01SO 1| Pint 141 11 UN 18 14-18 PG 21-18 PG
4.5 | ShExt 10 | SMExt 21E10UN | 30E10UN | 40E10UN (PG9,11,13.5,16) (PG 16)

o 4.5 | mnt 301 4.51S0 | 401 4.51S0 10 | Mint 141 10UN | 211 10UN | 30110UN | 401 10 UN 16 21-16 PG 30-16 PG Ly With internal coolantbore X
!Lg%l 5.0 | SMExt 40E5.01SO 9 SPExt 30 E 8 UN 40 E8 UN (PG 21,29, 36,42,48) (PG 36,42, 48) Eg\é'l
%t Iél[J 5.0 | Aint 301 5.01SO | 401 5.01SO 8 | Aint 211 8UN 301 8UN 401 8UN D D1 %5'5 ﬁ']
R 55 e 7 | SExt H 75 12 16 24

5.5 | Mint 40E5.51S0 7 | Alnt 211 7UN T 3.1 4.7 55 D2

6.0 | ShExt 40E6.01SO 6 | SMExt 30E 6 UN 40E 6 UN Order example: 21-18 PG Mt7 A L s

6.0 | Aint 6 | Aint 301 6UN | 401 6UN )

5 SNExt $yﬂ'\§?ﬂ€ﬁ:ﬂﬁ
H 63 s 12 i 20 5 | Aint 301 5UN Single insert toolholders okl I
T 2.9 3.1 4.7 5.5 6.3 Order | Price
4.5 | ShExt Number| (RMB) 14
Bk *One cutling edge 4.5 | AInt 401 4.5UN MR i Laa| 2 | waxr |t ; ‘T‘Eﬁs
W &5 Order example: 14 11.51SO MT7 4 SRO0Z0H14-2 SRS E : | core00 R4y
gﬁ’h 9I\EXt SR0030J21-2 211 30| 25| 24 [108( 52 | 21**** 2 M3.5X8 [ T15 607302 %5‘-\:]]
N 4 MAlint 401 4 UN SR0040L30-2 | 30| 40 | 32 | 30 |130| 70 | 30| 2 M4X10 | T15 | 607304
_55° 3L [E 6063..
W 55 *%Rﬂgﬁﬂ SR0050M40-2 | 40| 50 | 40 | 38 | 153 | 78 | 40" 2 M5X14 | T20 607306
BSW,BSF,BSP
H 6.3 7.5 12 16 20 Order example: SR0030J21-2
e T 2.9 3.1 4.7 5.5 6.3 Ba IR (27D
M _ Multi Insert Toolholders D1
*One cutling edge [ ’ —
v Order example: 21 E18 UN MT7
H
“i > O IR “y
BSPT-55°% Efr E HEEIZ M TI H 6066..
P

R ZF G A BSPT R ZF

+{ Saasassa -
tpi 12 14 21 30 40 Order | Price
24 14-24 W & H O DUIET | (R, &
5 SRO009H12 | 12| 9.5 | 20 | 7.5 | 85 | 14 | 12%| M2.5x7 | T8 | 607100
0 14-20W | 2120W P i " « SRO010H12| 12| 9.9 | 20 | 7.6 | 85 | 16 | 127 | M2.5X7 | T8 | 607102
19 *12-19W | 14-19W | 21-19W SRO012F14 | 14| 120| 20 | 8.9 | 75 | 20 | 14| m3xs T8 | 607104 g
16 14-16 W | 21-16 W | 30-16 W SRO014H14 | 14| 14.5 20 | 11.2] 85 | 25 | 14**| M3x8 | T8 | 607106 e
14 1414 W | 21-14W | 3012w SRO017H14 | 14| 17.0| 20 | 13.4| 85 | 30 | 14***| M3x8 | T8 | 607108 Number | (RMB)
11 14-11W | 21-11W | 30-11W | 40-11W tpi 12 14 21 30 40 **SRO018H21 | 21 18.0) 20 | 14.4] 85 | 80 | 217" | M3.5X8 | T15 | 607110 SR0063C21-5 | 21 | 63 | 22 | 50 | 21**** | M3.5X7 | T15 | 607400
T 12-19B5PT | 1219 BSPT SRO021H21 | 21| 21.0| 20 | 165| 94 | 40 | 217**| M3.5X8 | T15 | 607112 SRo063C304 |50 o5 125 150 T30 a0 T715 1 s07202
8 40-8W " e 1apseT | 21aBsPT SR0029J30 | 30| 29.0] 25 | 22.4] 110 50 | 307" | max10 | T15 | 607114 SR0080D30-4 | 30 | 80 | 27 | 55 | 30~ | mMaxio | T15 | 607404
" 21-11 BSPT | 30-11 BSPT | 40-11 BSPT SR0048M40 | 40| 480| 40 | 35.0| 153 | 78 | 40™*** | M5X14 T20 | 607116 SR0100D30 4 30 | 100| 32 | 60 | 30*** | M4XI0 T15 607406
SR0080D40-4 | 40 | 80 | 27 | 65| 40" | M5X14 | T20 | 607408
H 6.3 7.5 12 16 20 H o5 e PP P >0 Order example: SR0029J30 SR0100E40-4 40 100| 32 | 70 | 40**** | M5X14 | T20 607410
T 2.9 3.1 4.7 5.5 6.3 T oo " o o - *For conic inserts: 12-18 NPT, 12-18 NPTF, 12-19 BSPT

*One cutling edge Order example: 14-19 BSPT MT7 ** Cannot be used with Ihe following inserls:
Order example: 21-11 W MT7 For conical preparation end mills see page 121 2113.51S0.2118 UN. 2117 UN. 21-11 BSPT, 21-11.5 NPT, 21-11.5 NPTF Order example: SR0080D30-4




N
CEIG

124y

%7

214

R EF

B2 SR HI R 5t

Thread Milling System

Imze

60°RFLIN THRAIBETI 60°RFLIN THRLI BT
Thread Mill for Deep Holes TSRS 6081, . Thread Mill for Deep Holes =5

3UIDD60 2AIDD60
4UIDD60 3AIDD60

2UIDD60

YA : 6083. .

3UIDD60
4UIDD60

2UIDA60 oO|lO0| O TM.SC***2U 2UIDA6O O|0O0|O TM.SC***2U
2UI0B60 TM*** Ol 0| O 1.5-2.0 16-12 CTM.SC*2U 2UI0B60 TM*** O| 0| O 1.5-2.0 16-12 CTM.SC*2U
2UIDD60  TM*** 2.0-2.5 9-12 1/4" 1 2UIDD60  TM*** 2.0-2.5 9-12 1/4" 11
©l0/0 f——CTM2SC 14C17-65-2U 01010 CTM2SC 14C17-65-2U
2UIDM60 TM*** Ol 0| O 2.5 10 2UIDM60 TM*** O|0|0O 2.5 10
2UIDC60  TM*** O|lO0| @ 2.5-4.0 10-6 TM.SC***2U CTM.SC***2U 2UIDC60  TM*** O|l0| @ 2.5-4.0 10-6 TM.SC***2U CTM.SC***2U
3UIDB60  TM*** olo|o] 1520 16-12 3UIDB60 TM*** ololo]| 1520 16-12
3UIOE60 TM*** Ol 0| O 2.5-3.5 10-7 3/8" 16 TM.SC***3U 3UIOE60 TM*** O|O0| O 2.5-3.5 10-7 3/8" 16 TM.SC***3U
3UIDH60 TM*** Ol 0| O 4.0-6.0 6-4 3UIDHB60 TM*** O| 0| O 4.0-6.0 6-4
4UIDX60 TM*** O| 0| O 6.0-8.0 4-3 1/2" 22 TM.SC D***4U 4UIDX60 TM*** Ol 0| O 6.0-8.0 4-3 1/2" 22 TM.SC D***4U
2AIDP60 TW*** O|0| @ 1.5-3.0 16-8 114 1 TM.SC***2A 2AIDP60  TW*** O|l0| @ 1.5-3.0 16-8 1/4' 1 TM.SC***2A
3AIDTB0  TM*** O] 0| O] 2040 12-6 3/8" 16 TM.SC***3A 3AIDT60 TM*** olo|o] 2040 12-6 3/8" 16 TM.SC***3A
NS v 1]
LI THRG s TR (UED
Thread Milling holder For Deep Holes
. .
ARE B FNEBE AR
URE T RIZEE BJERENER

Forlarge pitches

For short pitches

TMISC 16W15-40-2U 95 40 16 11 | 14.75* 1 609100
TM2SC 25W21-60-2U 123 60 25 16 | 20.65* 2 609102
TM2SC 25W23-70-2U 135 70 54 25 17.7 23 2 2UID*** | L60OM2.5X6| T8 |609104
TM3SC 25W26-80-2U 147 80 25 | 20.4 26 3 609106
TM4SC 32W31-95-2U 164 95 32 | 257 31 4 609108
TM3SC 32W36-95-3U 166 95 32 29 36.5 3 609110
TM4SC 40W42-120-3U | 201 120 | 8.0 40 34.2 42 4 SuIb LOOM3.5X10| 145 [6oot12

RELMIBLHETIR (AR)
Thread Milling holder for Deep Holes

TM3SC 20C26-105-2A 105 3.0 20 26 3 2UID***

L60M2.5X6

T8 609200

TM3SC 28C35-144-3A 144 4.0 28 35 3 3UID***

L60M3.5X8

T15 609202

Integral Tungsten Steel
Thread Milling Cutter

TR SE RIS 58T |

TER BB LLT]

Partial Profile Thread Milling Inserts

FEERdmig: 6085. .

* O

60°1@ AL J] K Partial Profile 60°

SV1906 ol e

60° B AIZL J] & Partial Profile 60°|  Sv1604 O| @

12.7

@ E&ER (X#) Stockstandard(main) O —AREE#E Stock standard

TR f%: SV1604 DM215 10 Ordering example:SV1604 DM215 10pcs

BYUEL T
Indexable Threading Mills

(8]

DIN 18358

od

Bl

SMT12-12F11 12 12 25 80 TINR*** L60M 2.5X6 T-08 609300
SMT18-20K16 18 20 40 125 16NR** L60M 3.5X8 T-15 609302
SMT25-25M16 25 25 65 150 T6NR*** L60M 3.5X8 T-15 609304 E?
SMT35-32S22 35 32 110 250 22NR*** L60M 4.5X12 T-20 609306 %gﬁ
@ iTHERA: 1 SMT18-20KIF1 TIFER: MMIIMEL: 16NR** Insert information: Extemalthreading inserts: 16NR **
Ordering exampie: 1pc, SMT18-20Kie T AZEE: 16NT** Intemal tnreading inserts: 16NR **
NIRRT EEEI 5% External thread milling method
K
2457
#
; o ) — ' “y
AR -R Right Hand-R EHEIBSEL -L Left Hand-L HHEIBS -R Right Hand-R AEWEIBSL -L Left Hand-L
I Bt 32 44, IR $ECW.Feed and Miling T B Bt 3 4R, 335 8 COW.Feed and Milling R B 4 3 48, 335 B OV Feed and COW Milling TR ST 3 4R, IRSE CiFeed and CWiling W

J1Knsert:16NR**** Tl Finsert:16NR****

J1RInsert: 16NR**** J1FRInsert: 16NR****

Internal thread milling method

PR HI 75 5%

[
1

HHEEL -R Right Hand-R LIRS -L LeftHand-L AHEMEL -R Right Hand-R EREIRS -L LeftHand-L

I Bt 1 33 46, IR BECVV.Feed and Milling B 1 3 48, 35 BECCW Feed and Milling I B 1 3 46, 335 B CWFeedand CCWMIling 9 B 1 4R, IR CW.Feed and CW Miling

T1Knsert:16NR**** J1FInsert:16NR**** J1 K Insert:16NR**** Tl K nsert: 16NR****




® ZN B EHI RS éé %&‘ *}i ﬂ: Taps and
M Z G Thread Milling System == Adjustable Circular Die

BELHE

Extrusion Screw Tap

e uin 22 §fE

Apex Tap

MARES

BE kM Bt #R
RxTF BExKE (/R F) Precision Shape  White Tin

MES BE K AMIBES HEE

kE BHE #R
SBGXF XK E (/R F) Precision Shape  White Tin

MIEE S BE  KE

2SI EF BEXK BE(/K 5F)  Precision  Shape 2 HxF ExK B (/R F) Precision  Shape

M3.0x0.35 RH6| B 100 | 110 M14x1.0 RH8| B 367 | 403 M7.0x0.5 P2 93 | 110 UNC1/2-12 P3 183
M3.0x0.5 RH4| P 67 | 77 M14x1.25 RH8| B 367 | 403 M7.0x0.75 P2 93 | 110 UNF1/2-20 P3 203 | 230
RH4| B 67 | 77 M14x15 RH8| B 367 | 403 M7.0x1.0 P2 83 | 103
e z|7 e e (2 (5|0 wee, |z| |zln
X2 e W5/32-32 P2 67 | 77
RH6| P 67 | 77 M16x1.25 RH8| B 477 | 520 M8.0x1.0 P3 93 | 110 \eee - o | o
RH6| B 67 | 77 M16x15 RH8| B 477 | 520 M8.0x1.25 P3 g3 | 103 N3IS-24 o o g
RH7| P 67 | 77 M16x2.0 RH8| B 477 | 520 P4 83 | 103 &
MigA S BE LB HE RH7| B 67 | 77 #e 8 S A RS V18.0x1.25-100L 177 W1/4-20 P2 67 | 80
R F BExK B (/R F) Precision  Shape White RH8| B 67 77 UNFO0-80 RH4| P 80 87 SR TF BExK B (/R F)  Precision White Tin M8.0x1.25-150L 257 W5/16-18 P2 83 103
MO.5x0.125 RH2 | B 153 1167 \13.0x0.5-80L RH9) B 16273 E UNC1-64 RAA B 28 g; M1.0x0.25 P1 73 | 83 MS'SX&%“‘%W 53 117 ?% WE o I I
X0 .0x0.5- - e .0x0. W7/16-14 P3 167 | 193
M0.6x0.15 RH2 ) B 1 130 1140 3 0x0.5-100L 137 | 147 _UNF1-72 RH4| B | 103 | 110 m.gxg.ggﬂ%ﬁm — 2 M9.0x0.75 P3 17 1140 wi/2-12 P2 183 | 213
MO0.7x0.175 RH3 | B 130 1 140 M3.0%0.5-150L 247 | 257  TUNC2-56 RH4| P 80 | 87 -2X0. M9.0x1.0 P3 117 | 140
M1.2x0.25%5 45K P2 350
M0.8x0.2 RH4 | B 93 | 103 M3.0x0.5LK F RH6| B 93 | 103 RH4| B 80 | 87 LEOZAT M9.0x1.25 P3 110 | 133
M0.9x0.25 RH4 | B 93 | 103 "M3.5x0.6-100L 137 | 147 RH5| P 80 | 87 M1.4x0.2 P1 93 1103 “M10x0.5 P2 17 | 140
M1.0x0.25 RH4 | P 73 | 83 _M35x06LEF RH6| B 93 | 103 RH5| B 80 | 87 M1.4x0.3 P1 73183 M10x0.75 P3 117 | 140 ~ PS1/8-28#5% P4 790
RH4 | B 73 | 83 TM4.0x0.35 RH6| B 100 | 110 UNC2-56-100L 140 | 150 P2 735183 M10x1.0 P3 117 | 140  PS1/4-19%548 P4 1283
RH5 | P 73 | 83 M4.0x05 RH6| B 100 | 110 UNF2-64 RH5| B 93 | 110 M1.4x0.3-80L 130 M10x1.25 P3 117 | 140 PT1/8-28%5%R P4 880
RH5 | B 73 | 83 M4.0x0.7 RH5| P 67 | 77 UNC3-48 RH5| B 80 | 87 M1.4x0.3%53K P2 315 M10x1.5 P3 110 | 133 PT1/4-19%5%% P4 1340
M1.1x0.25 RH4 | P 100 | 110 RH5| B 67 | 77 _UNF3-56 RH5| B 103 | 110 M1.5x0.3 P2 80 | 93 P4 110 | 133
o RH4 | B 100 | 110 RH6| P 67 | 77 UNC4-40 RH5[ P 67 | 77 m-gg-%s E% ?g 18033 M10x1.5-100L 203
M1.2x0.25 RH4 | P 73 | 83 RH6| B 67 | 77 RH5| B 67 | 77 -6x0. M10x1.5-150L 277 NPS1/8-27484R
RH4 | B 73 | 83 RH7| P 67 | 77 RH6| P 67 | 77 m-gxg-ggf@%ﬁ - 130 oy -M10X1.5858R P4 717 NPS1/4-184548 Ej 1729803
RH5 | P 73 | 83 RH7| B 67 | 77 RH6| B 67 | 77 -6X0.35%5 M11x1.0 P3 147 177 NPTA/8-27454R
RH5 | B 73 | 83 RH8| P 67 | 77 RH7| B 67 | 77 M]-leg-gg%m E% 73 28933 M12x0.5 P2 153 [ 183 \PT1/4-18%6% P4 880
M1 4x0.2 RA4 | P 700 1110 RH8| B 67 | 77 UNC4-40-100L 140 | 150 s 5 51 0s— M12x0.75 P3 153 | 183 P4 1340
M1.4x0.3 RH4 =) 73 83 M. 0x0.7-80L RH9| B 16273 1737 UNF4-48 RH5] P 103 110 M1:8X0:35 Py 80 93 M12x1.0 P4 153 | 183
RHa | B 73 | 83 .0x0. 7 RH5| B 103 | 110 M18x0.35 = 82— m12x125 P4 153 | 183
Rus | p 25153 M4.0x0.7-100L 137 | 147 UNC5-40 RH5| P 73 | 83 M2.0x0.2 - o193 Mixs P3 153 | 183
M4.0x0.7-150L 247 | 257 RH5| B 73 | 83 -0x0. M12x1.75 P4 147 | 177
wiaossol | ol E o 1, M400TLRF | RHs| B | 93 | 103 UNC5-40-100L 140 | 150 o o777 Mi2d75-100L 263
RRREZ0N eV oo M45x05 RH7| B 103 | 117 _UNF5-44 RH6| B 103 | 110 M2.0x0.4-80L s M12x1.75-150L 313
RH4 | B | 100 | 110 -weral2 RHGT B Tos 17— o2 Rus| B | & | 77 M2.0x0.4-100L 130 e 530997
B2 RA4T P 1001110 M5.0x0.5 RH6| B | 103 | 117 RH6| P | 67 | 77 B E ai Ps 27— M14x1.25 P3 240 | 277
RH4 | B 100 | 110 e M2.2x0.25 P2 93 | 103 :
M5.0x0.8 RH6| P 73 | 87 RH6| B 67 | 77 M14x1.5 P3 240 | 277
M1.6x0.35 RH4 | P 73 | 83 RH6| B 73 | 87 RH7| B 67 | 77 m%-gxg-f E% g; ;; M14x2.0 P2 220 | 257
RH4 | B 73 | 83 RH7| P 73 | 87 UNC6-32-100L 140 | 150 EOXUE M16x1.0 P3 277 | 313
M2.5x0.35 P2 93 | 103
RH5 | P 73 | 83 RH7| B 73 | 87 UNF6-40 RH6| P 93 | 103 A M16x1.25 P3 277 | 313
1 6x0.35-80L RH5 | B 17337 18437 RH8| B 73 | 87 RH6| B 93 | 103 M2.5x0.45 E§ g; ;; M16x1.5 P3 277 | 313
.6x0.35- M5.0x0.8-80L 130 | 143 TUNCB832 RH6| P 70 | 80 M16x2.0 P4 257 | 293
M1.7x0.2 RH4 | B 100 | 110 M5.0x0.8-100L 140 | 153 RH6| B 70 | 80 - P4 16177 7
M1.7x0.35 RH4 | P 73 | 83 M5.0x0.8-150L 257 | 270 RH7| P 70 | 80 M2.5x0.05 808 e UNF0-80 P1 73 | 83
RH4 | B 73 | 83 M5.0x0.8LRF | RH6| B 100 | 113 RH7| B 70 | 80 o ps ,;, UNC1-64 P 73 | 83
RH5 | P 73 | 83 M6.0x0.5 RH7| B 103 | 117 UNC8-32-100L 140 | 150 sP s = 5705 UNF1-72 P1 93 | 103
RH5 | B 73 | 83 M6.0x0.75 RH7| B 103 | 117 UNF8-36 RH7| B 103 | 113 -6x0. UNC2-56 P2 73 183
M1.8x0.2 RH4 | B 100 [110  M6.0x1.0 RH6| P 73 | 87 _UNS8-40 RH6| B 103 | 113 mg-gxg-ig 100L P2 16370 7 P4 73 | 83 41
M1.8x0.35 RH4 | P 80 93 RH6| B 73 87 UNC10-24 RH6| P 73 83 M3-0X0.35- =] 67 77 UNC2-56-100L 133 —
RH4 | B 80 | 93 RH7| P 73 | 87 RH7| B 73 | 83 e - o1 4L _UNE2-64 P2 93 | 103 R F
M2.0x0.25 RH4 P 100 | 110 RH7| B 73 87 UNC10-24-100L 140 | 153 OXY: P3 57 67 UNC3-48 P2 73 83
RHa | B 100 | 110 RH8| B 73 | 87 UNC10-24LRF  RH7| B 100 | 113 o 20120 UNF3-56 P2 93 | 103 -
M2.0x0 4 RH4 | P 67 | 77 M6.0x1.0-80L 130 | 143 UNF10-32 RH7| P 93 | 103 "y 201 57 "UNca-4o P2 67 | 77 P
X M6.0x1.0-100L 140 | 153 RH7| B 93 | 103 : P3 67 | 77 B
RH4 B 571 17 M6.0x1.0-150L 257 | 270 UNF10-32-100L 140 | 153 M3.0x0.5-80L 17 P4 67 | 77 1247
el | & |1 _MeodoLEZ® | RHs| B | 100 | 113 UNFI032LEF  RH7| B | 100 | 113 MS.0x0.5-100L IS UNC4-40-100L 133 % 7]
M7.0x0.5 RH7| B 130 | 147 UNF12-24 RA7| B 77 1 93 0x0.5- UNF4-48 P2 93 | 103
Eﬂg g g; 7 M7.0x0.75 RH7| B | 130 | 147  UNF12-28 RH7| B 93 | 107 mg-gxg-gifgﬁl_ P3 21— "UNC5-40 P2 67 | 77 N
M7.0x1.0 RH7| B 130 | 147 UNS12-32 RH7| B 93 | 107 [ = 20— UNG5-40-100L 133 124
RH7 | P 67 | 77 "M8.0x0.5 RH7| B 130 | 147  UNC1/4-20 RH7| P 77 | 93 NGO - & | TUunce-32 P2 67 | 77 7]
RH7 | B 67 1 77 MB8.0x0.75 RH7| B 130 | 147 RH7| B 77 | 93 Vi 55 LA P3 67 | 77 TIFF
M2.0X0.4-80L RH8 | B 16273 17377 M8.0x1.0 RH7| B 130 | 147 UNC1/4-20-11§05IP_ 140 | 153 O o5 2| &y P4 67 | 77 TR
.0x0.4- M8.0x1.25 RH7| B 130 | 147 UNC1/4-20L RH7| B 100 | 113 UNC6-32-100L 133
M2.0x0.4-100L 137 | 147 RH9| B 130 | 147 UNF1/4-28 RH7| P 93 | 107 P4 57| 67 UNF6-40 P2 93 | 103
M2.0x0.4LRZF | RH6 | B | 100 | 110 M8.0x1.25-100L 183 | 203 RH7| B | 93 | 107 P - oL 7T "uNce-s2 P2 67 | 77 sy
M2.2x0.45 RH4 | P 73 | 83 M8.0x1.25-150L 263 | 283  UNF1/4-28LEZF RH7| B 100 | 113 Ma-0x0.7-80L e P3 67 | 77 —
RH4 | B 73 | 83 M8.0x1.25LEZF | RH7| B 153 | 173 UNEF1/4-32 RH7| B 93 | 107 A ox0.7- 1000 5t P4 67 | 77 i F
M2.3x0.4 RH5 | P 67 | 77 M9.0x05 RA7| B 747 170 _UNS1/4-36 RH7| B 93 | 107 SRR - L7, UNCB8-32-100L 133
RH5 | B 67 | 77 M9.0x0.75 RH7| B 147 | 170 "UNC5/16-18 RH7| B 130 | 147 M3.0x0.7%% — s UNF8-36 P2 93 | 103
M2.3x04LEF | RH6 | B 100 | 110 M9.0x1.0 RH7| B 147 | 170 UNC5M6-18LRZF RH7| B 157 | 177 M2 ox0.2 0 ¢ 1 59 "uncto-24 P2 67 | 80
M2.5x0.25 RH6 | B 700 110~ _M9.0x1.25 RH7| B 147 | 170 UNC5/6-18-100L 190 | 210 -0x0. 02 20| 79 UNC10-24-100L 133
M2.5x0.35 RH6 | B 100 | 110 M10x0.5 RH7| B 147 | 170 UNF5/16-24 RH7| B 140 | 157 P4 57 70 UNF10-32 P2 67 80
M2.5x0.45 RH4 | P 67 | 77 M10x0.75 RH7| B 147 | 170 "UNC3/8-16 RH7| B 153 | 183 "y 201 L UNF10-32-100L 133
RH4 | B 67 | 77 M10x1.0 RH7| B 147 | 170 UNC3/8-16-100L 213 | 233 M5.0x0.8.80L : 2 UNC12-24 P2 67 | 80
RH5 | P o7 | 77 M10x1.25 RH7| B 147 | 170 UNC3/8-16LRZF RH7| B 183 | 207 M2-0x0.8-80L 2 UNF12-28 P2 93 | 107
M10x1.5 RH7| B 147 | 170 _UNC3/8-24 RH7| B 167 | 193 -0x0.8- UNC1/4-20 P2 67 | 80
RH5 | B 67 | 77 M5.0x0.8-150L 250
Rue | p ey | 77 RH9| B 147 | 170 TUNC7/16-14 RH7| B 203 | 230 e - - P3 67 | 80
Rie | B oy |47 M10x1.5-100L 213 | 233 _UNF7/16-20 RH7| B 220 | 250 B = s P4 67 | 80
Ru7 | p o | 5y M10x1.5-1§(£r__ 283 | 303 UNCA/2-12 RH7| B 240 | 277 Meox0-5, - o0 1 &9 uNc1/4-20-100L 133
M10x1.5L RH7| B 177 | 197 UNF1/2-20 RH7| B 240 | 277 -0x0. UNC1/4-28 P2 93 | 107
RH7 | B 67 | 77 M6.0x1.0 P2 57 | 70
M11x1.0 RH7| B 167 | 193 UNS1/4-32 P2 93 | 107
RH8 | B 67 | 77 P3 57 | 70
M12x0.5 RH7| B 167 | 193 WA1/8-40 RH6| P 73 | 83 UNEF1/4-36 P2 93 | 107
M2.5x0.45-80L 123 1137 M12x0.75 RH7| B 167 | 193 RH6| B 73 | 83 fg ) g; ;8 UNC5/16-18 P3 83 | 103
M2.5x0.45-100L 137 | 147 M12x1.0 RH7| B 167 | 193 W5/32-32 RH7| B 73 | 83 : UNC5/6-18-100L 183
M2.5x0.45LR 2F | RH6 | B 100 | 110 M12x1.25 RH7| B 167 | 193 W3/16-24 RH7| B 73 | 83 M6.0x1.0-80L 120 UNF5/16-24 P2 103 | 120
M2.6x0.45 RH5 | P 67 177 m12x1.5 RH7| B 167 | 193 WA1/4-20 RH7| B 77 | 93 M6.0x1.0-100L 133 UNC3/8-16 P3 110 | 133
RH5 | B 67 | 77 M12x1.75 RH7| B 167 | 193 W5/16-18 RH7| B 130 | 147 M6.0x1.0-150L 250 UNC3/8-16-100L 207
RH6 | P 67 | 77 RH8| B | 167 | 193  W3/8-16 RH7| B 167 | 193 M6.0x1.0%5%K P3 313 UNF3/8-24 P2 130 | 150
RH6 | B 67 | 77 M12x1.75-100L 277 | 303 W7/16-14 RH7| B 203 | 230 UNC7/16-12 P3 167 | 193
RH7 | B 67 | 77 M12x1.75-150L 320 | 350 WA1/2-12 RH7| B 240 | 277 UNF7/16-20 P3 177 | 207
M2.6x0.45-100L 137 | 147 M12x1.75LRZF | RH7| B 197 | 227




Imze

BZ e 4L HE

Spiral Grooved Tap

B2 SR HI R 5t

Thread Milling System

MIRE S

BE BE #HR

BB G EF BEXK (/R 5F) Precision  White

Tin

AMIBES

BE BE #K

SR G BEXK (/R ZF) Precision  White

Tin

Tin
HigE S BE Bt #ER
SR 4xFF BExK B (/R FF) Precision White Tin
M1.0x0.25 P1| 73 | 83
P2| 73 | 83
P3| 73 | 83
P4| 73 | 83
M1.2x0.25 P1] 73 | 83
P2| 73 | 83
P3| 73 | 83
P4| 73 | 83
M1.4x0.2 P1| 93 [103
M1.4x0.3 P1| 73 | 83
P2| 73 | 83
P3| 73 | 83
P4| 73 | 83
M1.5x0.3 P1] 93 [103
M1.6x0.2 P1| 93 | 103
M1.6x0.35 P1| 73 | 83
P2| 73 | 83
P3| 73 | 83
P4| 73 | 83
M1.6x0.35-HT#'E 1B 97
M1.7x0.2 P1| 93 [103
M1.7x0.35 P1| 73 | 83
P2| 73 | 83
P3| 73 | 83
P4| 73 | 83
M1.8x0.2 P1] 93 | 103
M1.8x0.35 P1| 80 | 93
M2.0x0.25 P1] 93 103
M2.0x0.4 +0.1| 73 | 83
P1| 67 | 77
P2| 67 | 77
P3| 67 | 77
P4| 67 | 77
M2.0x0.4-100L 130
M2.0x0.4-AL$3F | P1| 67 | 67
M2.0x0.4-HT#FE | 1B | 77 | 93
M2.0x0.4L&% 7 P1] 80 | 93
22 1% M2.2x0.25 P1| 93 [ 103
M2.2x0.45 P1| 67 | 77
R F M2.3x0.4 P1] 67 | 77
M2.3x0.4L% F P1] 80 | 93
M2.5x0.35 P1| 93 [103
# (K M2.5x0.45 +F(>)i1 g; ;3;
BE P2| 67 | 77
%] P3| 67 | 77
P4| 67 | 77
1247 M2.5x0.45-100L 130
@) M2.5x0.45-AL$5 | P1| 67 | 67
M2.5x0.45-HT#E 1B | 77 | 93
71#F M2.5x0.45LE F | P1| 80 | 93
ks M2.6x0.35 P1] 93 | 103
— M2.6x0.45 P1| 67 | 77
- P2| 67 | 77
P3| 67 | 77
— P4 | 67 | 77
R M2.6x0.45-100L 130
M2.6x0.45Lx % | P1| 80 | 93
M3.0x0.35 P11 67 | 77
P2| 67 | 77
P3| 67 | 77
P4 | 67 | 77
M3.0x0.35LRZF | P2| 80 | 93
M3.0x0.5 +0.1| 67 | 77
P1| 57 | 67
P2| 57 | 67
P3| 57 | 67
P4 | 57 | 67
M3.0x0.5-100L 130
M3.0x0.5-150L 240
M3.0x0.5-AL5BRl | P2 | 57 | 57
M3.0x0.5-HT#FE | 1B | 67 | 87
M3.0x0.5L % 7 P2| 67 | 77
M3.5x0.6-100L 130 0
M4.0x0.35 P2 67 | 77
M4.0x0.5 P2| 67 | 77
P3| 67 | 77
P4| 67 | 77
M4.0x0.5L% 7F P2| 80 | 93

M4.0x0.7 A1 67 | 77 M12x0.5 P2 | 153 | 183
P2 | 57 | 67 M12x0.75 P2 | 153 | 183
P3| 57 | 67 M12x1.0 P2 | 153 | 183
P4 | 57 | 67 P4 | 153 | 183
M4.0x0.7-100L 130 M12x1.0LR 7F P2 | 177 | 207
M4.0x0.7-150L 240 M12x1.25 P2 | 153 | 183
M4.0x0.7-AL$RF | P2 | 57 | 57 P4 | 153 | 183
M4.0x0.7-HT#E | 1B | 67 | 87 M12x1.25LRF P2 | 177 | 207
M4.0x0.7L % 5F P2 | 67 | 80 M12x1.5 P2 | 153 | 183
M5.0x0.5 P2 67 | 77 P4 | 153 | 183
P3| 67 | 77 M12x1.5LRF P2 | 177 | 207
P4 | 67 | 77 M12x1.75 +0.1| 153 | 183
M5.0x0.5L % ZF P2 | 80 | 97 P2 | 147 | 177
M5.0x0.8 +0.1| 67 | 77 P3 | 147 | 177
P2 | 57 | 67 P4 | 147 | 177
P3| 57 | 67 M12x1.75-100L 263
P4 | 57 | 67 M12x1.75-150L 313
M5.0x0.8-100L 133 M12x1.75-ALEBA | P2 147
M5.0x0.8-150L 250 M12x1.75-HT#FE | 1B | 167 | 177
M5.0x0.8-AL4SF | P2 | 57 | 57 M12x1.75LR 5 P2 | 170 | 207
M5.0x0.8-HT#E | 1B | 67 | 87 M14x1.0 P2 | 240 | 277
M5.0x0.8L )z &F P2 | 67 | 80 M14x1.25 P2 | 240 | 277
M6.0x0.5 P2 [ 67 | 77 M14x1.5 P2 | 240 | 277
P3| 67 | 80 M14x2.0 P2 | 220 | 257
P4 | 67 | 80 M16x1.0 P2 | 277 | 320
M6.0x0.5L )z ZF P2 | 80 | 97 M16x1.25 P2 | 277 | 320
M6.0x0.75 P2 | 67 | 80 M16x1.5 P2 | 277 | 320
P3| 67 | 80 M16x2.0 P2 | 257 | 300
P4 | 67 | 80
M6.0x0.75L&k 3 | P2 | 80 | 97 UNF0-80 P1| 73 | 83
M6.0x1.0 +0.1| 67 | 80 UNC1-64 P1] 73 | 83
P2 | 57 | 70 UNF1-72 P1] 93 | 103
P3| 57 | 70 UNC2-56 P1] 73 | 83
P4 | 57 | 70 P2 | 73 | 83
M6.0x1.0-100L 133 P3| 73 | 83
M6.0x1.0-150L 250 P4 | 73 | 83
M6.0x1.0-ALSBFE | P2 | 57 | 57 UNC2-56-100L 133
M6.0x1.0-HT#E | 1B | 67 | 87 UNC2-56-HTHFE | 1B | 87 | 97
M6.0x1.0L /2 ZF P2 | 67 | 80 UNF2-64 P1| 93 | 103
M7.0x0.5 P2 | 93 | 110 UNC3-48 P1] 73 | 83
P4 | 93 | 110 UNF3-56 P1| 93 | 103
M7.0x0.75 P2 | 93 | 110 UNC4-40 P1] 67 | 77
P4 | 93 | 110 P2 | 67 | 77
M7.0x0.75LZF | P2 | 110 | 130 P3| 67 | 77
M7.0x1.0 P2 | 83 | 103 P4 | 67 | 77
P4 | 83 | 103 UNC4-40-100L 133
M7.0x1.0LR ZF P2 | 103 | 120 UNC4-40-AL$BF | P2 | 67
M8.0x0.5 P2 [ 93 [ 110 UNC4-40-HT#FE | 1B | 77 | 93
P4 | 93 | 110 UNF4-48 P1] 93 | 103
M8.0x0.75 P2 | 93 | 110 UNC5-40 P2 67 | 77
P4 | 93 | 110 UNC5-40-100L 133
M8.0x0.75Lk 2 | P2 | 110 | 130 UNF5-44 P2 | 93 | 103
M8.0x1.0 P2 | 93 | 110 UNC6-32 P2 67 | 77
P4 | 93 | 110 P3| 67 | 77
M8.0x1.0L & ZF P2 | 110 | 130 P4 | 67 | 77
M8.0x1.25 +0.1] 93 | 110 UNCB-32-100L 133
P2 | 83 | 103 UNC6-32-AL4EFE | P2 | 67
P3| 83 | 103 UNCB-32-HT#FE | 1B | 77 | 93
P4 | 83 | 103 UNC6-32L% 3F P2 | 80 | 93
M8.0x1.25-100L 177 UNF6-40 P2 | 93 | 103
M8.0x1.25-150L 257 UNC8-32 P2 67 | 77
M8.0x1.25-AL{E | P2 83 P3| 67 | 77
M8.0x1.25-HT#&| 1B | 103 | 110 P4 | 67 | 77
M8.0x1.25Lx ZF | P2 | 103 | 120 UNC8-32-100L 133
M9.0x0.5 P2 [ 110 | 133 UNCS8-32-AL53F | P2 | 67
M9.0x0.75 P2 | 110 | 133 UNCB8-32-HT#FE | 1B | 77 | 93
M9.0x1.0 P2 | 110 | 133 UNCB8-32LK F P2 | 80 | 93
M9.0x1.0L& ZF P2 | 140 | 160 UNF8-36 P2 | 93 | 103
M9.0x1.25 P2 | 110 | 133 UNC10-24 P2 | 67 | 80
M10x0.5 P2 [ 117 | 140 P3| 67 | 80
M10x0.75 P2 | 117 | 140 P4 | 67 | 80
P4 | 117 | 140 UNC10-24-100L 133
M10x0.75L &% 7F P2 | 140 | 160 UNC10-24-AL$8F | P2 | 67
M10x1.0 P2 | 117 | 140 UNC10-24-HT#PE| 1B | 77 | 93
P4 | 117 | 140 UNC10-24L/% 3 P2 | 80 | 97
M10x1.0LKR 7F P2 | 140 | 160 UNF10-32 P2 | 67 | 80
M10x1.25 P2 | 117 | 140 P3| 67 | 80
P4 | 117 | 140 P4 | 67 | 80
M10x1.25L&% 7F P2 | 140 | 160 UNF10-32-100L 133
M10x1.5 +0.1]| 117 | 140 UNF10-32-HT#E| 1B 103
P2 | 110 | 133 UNF10-32L/% 5 P2 | 103 | 117
P3| 110 | 133 UNC12-24 P2 | 67 | 80
P4 | 110 | 133 UNF12-28 P2 | 93 | 107
M10x1.5-100L 203 UNEF12-32 P2 | 93 | 107
M10x1.5-150L 277 UNS12-36 P2 | 93 | 107
M10x1.5-ALsBH | P2 110 UNC1/4-20 P2 | 67 | 80
M10x1.5-HT#FE | 1B | 130 | 140 P3| 67 | 80
M10x1.5L [ 7F P2 | 133 | 153 UNC1/4-20 P4 | 67 | 80
M11x0.5 P2 [ 153 ] 183 UNC1/4-20-100L 133
M11x0.75 P2 | 153 | 183 UNC1/4-20-AL58H| P2 | 67
M11x1.0 P2 | 153 | 183 UNC1/4-20-HT#FE 1B | 77 | 93
M11x1.5 P2 | 147 | 177 UNC1/4-20LZF | P2 | 80 | 97

BRI S BE 86 #%
Y2 ErXFF BExAK B (/R ) Precision White  Tin
UNF1/4-28 P2| 93 | 107
P4| 93 | 107
UNF1/4-28-HTHFE 1B 103
UNF1/4-28L % 3F P2| 103 | 117
UNEF1/4-32 P2| 93 | 107
UNS1/4-36 P2| 93 | 107
UNC5/16-18 P2| 83 | 103
P3| 83 | 103
P4| 83 | 103
UNC5/16-18-100L 183
UNC5/16-18-AL$BFH  P2| 93
UNC5/16-18-HT#FE 1B 110 | 117
UNC5/16-18LRZF  P2| 103 | 120
UNF5/16-24 P2| 103 | 120
P4| 103 | 120
UNF5/16-24-HTHFE 1B 140
UNF5/16-24L/g5F  P2| 130 | 147
UNC3/8-16 P2] 110 [ 133
P3| 110 | 133
P4| 110 | 133
UNC3/8-16-100L 207
UNC3/8-16-ALs5H P2| 117
UNC3/8-16-HTIFE 1B| 133 | 147
UNC3/8-16L &% 3F P2| 133 | 153
UNF3/8-24 P2| 130 | 150
P4| 130 | 150
UNF3/8-24-HT4FE 1B 170
UNF3/8-24L 2 3F P2| 153 | 177
UNS3/8-32 P2| 130 | 150
UNC7/16-14 P2| 167 | 193
UNF7/16-20 P2| 177 | 207
UNC1/2-12 P2] 183|213
UNF1/2-20 P2| 203 | 230
W1/8-40 P1| 67 | 77
W5/32-32 P2| 67 | 77
W3/16-24 P2| 67 | 77
W7/32-24 P2| 67 | 80
W1/4-20 P2| 67 | 80
W5/16-18 P2| 83 | 103
W3/8-16 P2| 110 | 133
W7/16-14 P2| 167 | 193
W1/2-12 P2| 183 | 213
PS1/8-283x4 110
PS1/4-14%#l 313
PS1/4-18 2l 110
PS1/4-193#i 130
PS3/8-18 %l 183
PS3/8-193%l 203
PS1/2-143l 240
PS1/2-14 34l 277
PS3/4-14 34l 350
PS1-113&4 587
PS1-11.1-224) 587
PT1/16-28 %%l 110
PT1/8-28 %l 110
PT1/4-193%Hl 147
PT3/8-19% i 220
PT1/2-14 3% 277
PT3/4-1435H| 387
PT1-113&5] 643
NPT1/8-27 4l 110
NPT1/4-1824l 147
NPT3/8-18 4 220
NPT1/2-14 %4 277
NPT1/4-14 %) 387
NPT1-11.1-2%4) 643

HTFRE#ELHE
HT Straight Wire Tap
e pp—
MRE S BE Bt
BRI BEXK BE(/R 5F)  Precision White
M1.0x0.25 P1 60
M1.2x0.25 P1 60
M1.6x0.35 P1 60
M1.7x0.35 P1 60
M1.8x0.35 P1 60
M2.0x0.25 P1 67
M2.0x0.4 P2 57
P3 57
P4 57
M2.2x0.25 P1 67
M2.2x0.45 P2 57
M2.3x0.25 P1 67
M2.3x0.4 P2 57
M2.5x0.35 P1 67
M2.5x0.45 P2 57
P3 57
P4 57
M2.6x0.35 P2 67
M2.6x0.45 P2 57
P3 57
P4 57
M3.0x0.35 P2 67
M3.0x0.5 P2 47
P3 47
P4 47
M3.5x0.35 P2 67
M3.5x0.6 P2 47
P3 47
P4 47
M4.0x0.35 P2 67
M4.0x0.5 P2 67
M4.0x0.7 P2 47
P3 47
P4 47
M4.0x0.75 P2 67
M4.5x0.5 P2 67
M4.5x0.75 P2 50
M5.0x0.35 P2 67
M5.0x0.5 P2 67
M5.0x0.8 P2 50
P3 50
P4 50
M6.0x0.35 P2 73
M6.0x0.5 P2 67
M6.0x0.75 P2 67
M6.0x1.0 P2 50
P3 50
P4 50
M7.0x0.5 P2 87
M7.0x0.75 P2 87
M7.0x1.0 P2 73
M8.0x0.35 P2 103
M8.0x0.5 P2 87
M8.0x0.75 P2 87
M8.0x1.0 P2 87
M8.0x1.25 P2 73
P3 73
M9.0x0.5 P3 113
M9.0x0.75 P3 113
M9.0x1.0 P3 113
M9.0x1.25 P3 97
M10x0.5 P3 113
M10x0.75 P3 113
M10x1.0 P3 113
M10x1.25 P3 113
M10x1.5 P3 97
P4 97
M11x0.5 P3 147
M11x0.75 P3 147
M11x1.0 P3 147
M11x1.5 P3 130
M12x0.5 P3 147
M12x0.75 P3 147
M12x1.0 P3 147
M12x1.25 P3 147
M12x1.5 P3 147
M12x1.75 P3 130
P4 130
M14x2.0 P3 147
M16x2.0 P3 183

22 3R 5F

MigRS ¥E A
BRI F BExKBE(/RF) Precision White

UNF0-80 P1 60
UNC1-64 P1 60
UNF1-72 P1 70
UNC2-56 P1 60
UNF2-64 P1 70
UNC3-48 P1 60
UNF3-56 P1 70
UNC4-40 P2 57
P3 57
UNF4-48 P2 67
UNC5-40 P2 57
UNF5-44 P2 67
UNC6-32 P2 57
P3 57
UNF6-40 P2 67
UNCS8-32 P2 57
P3 57
UNF8-36 P2 67
UNC10-24 P2 57
UNF10-32 P2 67
UNC12-24 P2 57
UNF12-28 P2 67
UNC1/4-20 P2 57
UNF1/4-28 P2 67
UNF1/4-32 P2 67
UNC5/16-18 P3 73
UNF5/16-24 P3 87
UNEF5/16-32 P3 93
UNC3/8-16 P3 97
UNF3/8-24 P3 13
UNEF3/8-32 P3 113
UNC7/16-14 P3 130
UNF7/16-20 P3 147
UNC1/2-13 P3 130
UNF1/2-20 P3 147
BT
PS1/16-283% 93
PS1/8-27%4 93
PS1/8-28 54l 93
PS1/4-14 %4l 313
PS1/4-18%4l 110
PS1/4-193&4 110
PS3/8-18%#l 183
PS3/8-195 4 183
PS1/2-14%Hl 240
PS1/2-14 3] 240
PS3/4-145&4 313
PS1-113 533
PS1-11.1-2%4 533
PT1/16-28%4l 93
PT1/8-28 3% 93
PT1/4-19% 4| 120
PT3/8-19% | 203
PT1/2-14% 4| 257
PT3/4-14% 5| 350
NPT1/8-27 21 93
NPT1/4-18%4l 120
NPT3/8-18 %l 203
NPT1/2-14 %) 257
NPT1/4-14 %% 350
NPT1-11.1-2%#] 587

Taps and
Adjustable Circular Die
3 AR-DT X B4R ZF 1=
AR-D Adjustable Circular Die 324X 5F xk B (/R )
UNF0-80
UNC1-64
UNF1-72
UNC2-56 20 147
UNC3-48 20 147
UNF3-56 20 167
UNC4-40 20 147
UNF4-48 20 167
UNC5-40 20 147
BRECE BEXKBE(IR ) Simer UNC6-32 20 147
M1.0x0.25 20 | 463 JNES40 2oy
M1.2x0.25 20 | 183 UNF8.36 % | 167
M1.4x0.3 20 183 UNC10-24 20 147
M1.5x0.3 20 183 UNF10-32 20 167
M1.6x0.35 20 183 UNC12-24 20 147
M1.7x0.35 20 183 UNF12-28 20 167
M1.8x0.35 20 183 UNC1/4-20 20 147
M2.0x0.25 20 167 UNF1/4-28 20 167
M2.0x0.4 20 147 UNS1/4-32 20 167
M2.0x0.4L /2 7F 20 167  UNEF1/4-36 20 167
M2.2x0.25 20 167 UNC5/16-18 25 167
pads | | o WeEA | %
M2 54035 S0 er UNF3/B24 25 | 183
M2.5x0 45 20 147  UNC7/16-14 25 167
UNF7/16-20 25 183
M2.5x0.45L % & 20 167 UNC1/2-12 25 167
M2.6x0.35 20 | 167 UNF1/2-20 % | 183
M2.6x0.45 20 147
M3.0x0.35 20 167 W1/8-40 20 147
M3.0x0.5 20 147 W5/32-32 20 147
M3.0x0.5L & 7F 20 167  W3/16-24 20 147
M4.0x0.35 20 167 W1/4-20 20 147
M4.0x0.5 20 167 W5/16-18 25 167
M4.0x0.7 20 147 W3/8-16 25 167
M4.0x0.7L = 5F 20 167 W7/16-14 25 167
M4.5x0.5 20 167  W1/2-12 25 167
M4.5x0.75 20 147
M5.0x0.35 20 167
M5.0x0.5 20 167
M5.0x0.8 20 147
M5.0x0.8L /2 7F 20 167
M6.0x0.5 20 167
M6.0x0.75 20 167
M6.0x1.0 20 147
M6.0x1.0Lfz 5F 20 167
M7.0x0.5 25 183
M7.0x0.75 25 183
M7.0x1.0 25 167
M8.0x0.5 25 183
M8.0x0.75 25 183
M8.0x1.0 25 183
M8.0x1.25 25 167
M8.0x1.25L % & 25 183
M9.0x0.5 25 183
M9.0x0.75 25 183
M9.0x1.0 25 183
M9.0x1.25 25 167
M10x0.5 25 183
M10x0.75 25 183
M10x1.0 25 183
M10x1.25 25 183
M10x1.5 25 167
M10x1.5L % 5F 25 183
M11x1.0 25 167
M12x0.5 25 183
M12x0.75 25 183
M12x1.0 25 183
M12x1.25 25 183
M12x1.5 25 183
M12x1.75 25 167
M12x1.75L% 5F 25 183
M14x1.0 38 350
M14x1.25 38 350
M14x1.5 38 350
M14x2.0 38 330
M16x1.0 38 350
M16x1.25 38 350
M16x1.5 38 350
M16x2.0 38 330




